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I
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i

I

o
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- 22 (1)

Vowels (1)

< XK (1)

Consonants (1)

Sl 1 M7

‘23 (2)

Vowels (2)

N =R

Consonants (2)

=N

Consonants (3)

S22 M|

- 23 Q)

Vowels (3)

« HEX]
| el |
Batchim (Syllable-final consonants)

« 32 3 M|
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Listen to the following.

1 = =ejpgon O E2|H x SR,

= =4- x

Mark O if the syllable matches the sound that you hear, and mark X if not.

1) o 2 2 3 2
() () ()

2ot HSE MMQ.

Listen and number the words as you hear them.

18

" 4
x I 0}0| 20| L
o ( ) ( ) (|
A
2

ot 010 0

ENORY @2
2) 2o @ 0|
3) ®=F @ e
5 @ o2 @ L0}
5) @ ofo| @ 20|

40

2. X2 (1)

A

&1

_;'O'I EA'HR ‘. track 03

Listen to the following.

1. 20 %ol O E2H X StMR. )
Mark () if the word matches the sound that you hear, and mark X if not.

1) 27| 2) & 3) Ctzf 4) 0z
( ) ( ) ( ) ( )

IS OIS E MM Q.

Listen and number the words as you hear them.
LIPS Ltz BE x| ofniL|

XE &2

3. HELHe AE DEAMQ.

Listen and choose the correct word.

—
~—

® 22 @ 1g|

2) @ o= @ ofr]
3) © 17 @ 7171
4) 25 ==
5 &% @ 2
6) © 7z @ iz
7). @ R2Xt @ At
8 OEE @zH
9) O =22 @ =

10) @ sict @ siLt
1 @ X2 @ X171
12) @ Lty @ o]
13) @ Xl&t @ 71
14) @ L2 @ ot
15) @ oot @ &tat

o

=

¢S &



A

Fay
H

2

4. H ED SXE AgotMg.

Listen and complete the syllables.

=

1) 2| 3) 4)
O 7 LC
-
5) | S — 7) 8)
A S =
9) 10) 11)

13) |
-

OfzHoil M CHS THHE HOIEML.
Find and circle the following words in the box below.

16)

T

>

40

c

M

ru

ol

|0

1

x|z HA

=R )

MML.

Write the following words.

S)f|__0|_ _?_|o| _?_ EI 01_' |:|-| |_|'
Of o2 of| 2 & lof o L
u i
ZhH i+ |7 o) 3 =|ct 2 o
b &7 8|3+ & cto2 o
L g+ #+|ct 2 |at g 2
b2t & ict g g g o

Eie

|¢SHR



(E=N

lo=ig

R ERE R IR A A
@ o2t of 2 H H|of # X
|
- |
=R R R S e e
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| o
R
2 2|5 alls & 8 2 U]
2b 2135 2| & 4 8 U
1
| L__

sh= 2 ._ 1 J
1 .S‘:ﬁ- (2)

91

=0 EAR. ‘. track 04
Listen to the following.

1. 2E1 %ol O, &2l x shMle.

Mark O if the syllable matches the sound that you hear, and mark X if not.

1) Of

2) o

—
b
&
o
=
o
=
o
o
=
Q
Q
o
(49
—
=
¢l
o
o
=t
]
s}
=
£
Q
=
o

@ 0[op7|
@ 22
@ =&
@ %
@ %
@ 77t

HEL MM

Listen and complete the words.

-
-

2is

1rHUn



Ti_?}'l mf@) Conson:

agl solzmMe <, oo
Listen to the following.

ol g2 HEDSS TS HOL IS Yol BHIR. 4, wackos

Complete the picture with the words that you hear.

1. A=D1 HOHO, E2|H x IR,
Mark O if the word matches the sound that you hear, and mark X if not,
! 2) Eix 3) ZT 4)

7| ES TjE

( ) ( 1 (
t2| x|at FIj

( ) ( (
7te 7|XHE ze

3 HEun = As 12M8.

Listen and choose the correct word.

) @7 @ 7|
) @ H @ I
) @ Xt @ %t

4 Oz @ E7Y
)
)

N

5 DEE @E=
6) ® 71X @ JIRt

4, B ELMAR,
Listen and complete the words.

1)

l¢EHR Biz
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Write what you hear. (252 B — p222)

[2EX Al

Phone Note

Phone Note

881-o414

2. Oto| &

164-1981

3 7|2 L2t

2320-1260

4, 2I3E AL Lt

805-0323 423-1603
5. 320t 4 0. | r
n15-1106 516-0330

3. &g (3)

A

21

%01 BAHR. ‘. track 07
Listen to the following.

1.

A EDSUOH O, F2|H X otMR. )
Mark O if the syllable matches the sound that you hear, and mark X if not.
1) 1 2) 3) Mt 4) T}
( ) ( ) ( ) ( )
A ED USE HZ ot HSE MMR.
Listen and number the words as you hear them.

4 |
ﬂ 2| I OFR M| LoE] l
( ) «( 1 ) ( ) ( )

ML} O Hif Ar|2] Xt
( ) ( ) ( ) ( )

et
i ( ) .
mw—nﬂ‘
X ED BH= AE TEMEK.
Listen and choose the correct word.
1) O H @
2) ® g @ 1e
3) g2 @ &
4) @ Al @ ML}
5) @ Xt @ MLt
2 ED MNR.

Listen and complete the words.

1) D"I 2)

¢S Bie
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0‘|E et 2= HotRM L, *, track 08
the words that you hear.

MA L.

Write the following words.

i

WEP

0, [

ﬂ.___._’

=

L

oF F|2 )2 7 o|- of 7|
oF F|12 4 2 7k o of 7]
LI R L e |
|
- o o - |
‘ |
£ & oA 8 2 E o E
2 flo 2|8 2 E o E
ap | | -
|
I |
| B N I
' . | .
@ =R bRl 2 E |22 B
1 F|2 O3 E 7 2 o=m

l£&5HR B3
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a&1 soizue 4y track 09 -
Listen to the following.

1. 2EXHCHQO, 52/ x M.
Mark O if the syllable matches the sound that you hear, and mark X if not.

1) O 2) o 3) of 4) ¥ 5)
( ) ( ) ( ) ( )

NE 30 HSE BN,
Listen and number the words as you hear them.

[ OlAL M ?I 3|At ]
( ) ( ) ( ) ( )

{12k

—
(=]

Fo=§

Bt

2[ | of | & cf o 2| o
st ch 7h 11{_.'15 chiob| i M
Bk | & oot A A

Listen and choose the

correct word.

1) © 7o @ 70|
2) @ oKz @ op7|
3) @ A= @ M=
4) © Azt @ Az
5 @A @ 2t

6) @ =Ab @ 2tAL
7 O @F

8) @ #Ict @ AlCt
9 @ % @ 3

10) @ <A @ OfAt

ron

1

|¢&HA



s Sk
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Fo=

4, HED MNR.

Listen and complete the words.

2)

3 4) —
) A l_

5) 6)

A} kel
&2 2 2XE Yol 21 oS HopEAL.
Read the following and circle the words.

7t | 2t 2| i 7| Xt
= &8 o o (2 .o s
9 At ES Al QL # Ml
ot Xt 2l o 2| (=] =]
| o = Ct -] 7t #
at Al M 2| 7 Ct bt
7t o I} 0| & N ot

%O'l HMR. ‘, track 10
Listen to the following.

1. 2ERSCH O &2 X sthg. -
O

Listen and number the words as you hear them.

T
Mo
s
0e
=

Listen and choose the correct word.

) OY @4
2) o @4t
3 @RY 2
4) @ 4t @ &
5 OF @%
6 OX% Z
7 oY L
8 O @
9 O= =
10) @ Bt @

if the syllable matches the sound that you hear, and mark X if not.

s Lllm &1
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4. H =D MANQ.

Listen and complete the words.

)
1 E.‘”
4) o
ne
7) -J';[I— E'l

g2

CHZ HOIE S A2[7t 22 A8 oL HZs EMR.

Read the following words. Then match each word with the word that has same sound.

DS

-~ @

> ¥

oA

s}

°

e

10

3. 92 3 M7

MHIL.

Write the following words.

EN:NERE
i ool =

AL 3}

| I_LH

2
2 |

OH

e

ot

o

EH.7\|

g 2|

el ool

N quaﬂ
\k-l O:” || O:”

LIRS
|5t o

at

\

\

mocp
B

\

|

Bl
a7
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Nationality
- EiS

Occupation

« QA

* N2/= Nolof| /02
« N&L{7K?, NILCH

« NO|/7} obgLct




40

d
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SER N

o=

re

o>

HIZtof Y2 HHOE MM,

Complete the words.

your country?

)

=y

=
s |

Yore J3g AZSMR.

Match each name card with the corresponding picture.

1)

Hl

=
o BIAHA

copglat|

0|5 : O0I2

Y 1 7IKE

e

i

&3

S1ES 21 [27]]9F Z0] XML,
Look at the pictures and complete thé sentences as shown in the example.

[E7]]

B, Yuct.
3 4
ol L_l l:l.
5) 5

= \'*‘%m‘w

gur. Lict.

HlvloRJA firl



Aa] azewwuzo) 2 zig aye.

Look at the pictures and complete the sentences.

42
N
o
a
A
<2
ol
L
3)
£
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Wl =
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4)
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w

BlvieRid Tl
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A

/= Nojoja/9% 8

1

(7112t 20|

Complete the sentences with the correct particle.

[E7]]

UTI2 TS MAIR.

= X

Mo

= AE0[0 L.

S A0,

Ol= Afgfololl L.

olel
=T

It

5
|_

oot 2 HAFIM Q.

= AHEO0[0]2.

A A0l

AfEfolol|2.

Match each picture with the correct ending.

A2

rg

>

re

o>

3

JI8E B0 [E7]]eF 20| RS 2SR,

Look at the pictures and complete the sentences as shown in the example.

[H7]]
v 02|32

ofz]

ku

ol B
2

B ap2loloflg

\ = U= A

-
>
=
C
A

sl
rlo

OEs [\ [/]2 BABH M.
Read the following dialogues and mark the intonation.

) A KeE ZF202
B: X OIXIEOIOHR.

2) AT AR ME B2 AlEO|0I27?
B: Ul, &2 AIZolof2.

3) A Xe Heoe
e ME 23 AlRo|0R?
AU, He &3 A0

w

L1010 I A

Hivlo 21 ki
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i W18k

Fo=i

3. NYU7ZE?, NYJUct

a1

re

o>
N

re
ol>
w

LRE NS Zat 2HS YSIMR.

Compilete the sentences with the appropriate ending.

[27]]t Zo| L2 AS MMIR.

2iLct olof2/0fle
Complete the sentences as shown in the example.
2 | aeze oz Ay
[&7]] AE|2E stAy o)iint 7 :
AE|ES sp Sjuict
) XM Zois . 2) XM= B A -
3) OJXIt M= 7|xt 7 4) XM= 2aA
5) ORlOHME= AR 7 el ME A 7
4)
™S HI (7))ot 20| thets 26K,
Look at the pictures and complete the dialogues as shown in the example.
7 :
\ Lt 1 oH =~ ¢
Al = 3_!‘*0” 0
! @é? g,  chAfeluer
6 |
1) A:orz|ot Me -
Bl
2) At M= ?
B, =
3) A:DIOIZ M= ? &4 oeazo oy se
Rewrite the sentences as shown in the example.
B,
1) A N= daANQ — HE ofeflaoliyc
4 AT ME 7 2) B: LA M= T0l001R7 — e sy Folojint
B4, - 3 AU, Hs Zelojog. ~
5 A XAE Ms 7 4) B: A M= ol Lizt Al2lojollR? —
B: 4 o 5 A:X= 0|2 AtEolog. -

B
~J

2Ris il

By
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48

e 1k

o=

ag&1 wvensnede o
Circle the correct particle. A AEE M S ARISILITI
i b L | = 712 0] / 7}) opLct,
1) e 53 A0/ 7t) obeuick, 2) = 7k 01 /7t) OoFg B:ofg, I3 abatel oftluici
3) AEIEE FfLICE ARZI( 0l / 7) ofdLich,  4) ofFlakz 9AK ol / 7t) ordLct, M 012 Arheiuck
5) Of2[ok= Y& AR ol / 7t) OFgLICh 6) Xz 8= AR 0l / 7t) obguct
7) M= ofol2( 0] / 7+) ofgLich 8) Afye 7|XK 0| / 7+) otuCt, 0 ~ .
A OR2[0F M= 2{AJoF AFZHRILI7}?
g2 =S =T (=220 2N AL B:ole,
Look at the pictures and create the sentences as shown in the example. XM= =9 AzteiL|ch
2) )
[271] o A OHOIZ ME 53 AL
\“ﬁ E B: opg,
sy | =33 4= HE F3 ak3fel obyuct AE 2 ARKLICE
3)
A SHE MW= Qe ARRILITE?
B: Ol
K i 07 | AR ARILIC
! 2
#+ o= Al B o A T M= MMEJLITI?
B:OHL,
2) XNMe SlAFEYLCY,
+ = AR B A HAEL M 7IXIILIE?
B:otLL, _
3) Mz 7tk
Lt0O]
+ 714 )
- Aad zmeoppE B,
Ask each other questions and respond.
4)
He e AR
#E:Lm N M|, AAHERILI7H?
o . V
M|, StH{EtEE seLp |
5) - N S ' M,
9 S
S b
./\}Cl + QalAt )
= P:H—FI I 1 L T aAtRussia DZ f;];é_[;a;(i_s_m_n_ a _E‘H:HEEH'C—E!I’L Harvaéi University

B&3 a8 =0 (=7 2ol EE SR,
Look at the pictures and complete the dialogues as shown in the example.

2JA|O} Russia
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Pattern Practice

r2
aj>
b

2.
3.
4,

50

x

n{ﬂﬂo

Al

2

re
o>
N

(2711 MM (T) hIstiR?
s M (S) oMEIR?

T 2rds| ZHM=.

‘.}I

" track 11

T 2tgs| AN,

[27]] MMET) X, ULt
5t

L
M (S) XM= LK.

T XN AEE

re

of>

re

>

[271] MYE (1) AEE M= 0|2 AL

st M () (Hl) Ul, AEI2 M= DI= ARZFILICE

T ORE|ZE M= Y2 AL

S (d)

. T &L M ZEA ALY

S ()

[27]] M4H(T) AEE M I3 AL

st M (S) (0|2 AHH) OfLR, B= AFZ0| OFLCH,

0|2 AlILICt

T Of7|2t M &= AL

&)

-

S (g=

. T A2 Me LT AR

S (BF A

. T Or2[oF Mz 22 AML7E?

S (2

. T ALY NeE 7|7

AT I ACO T b



__ Whais this?

— -
i'.

of 3l L3123
School supplies
- YN MBS

Daily goods

=Yt 2 * NO|/7} L L2[8101R]
* 0[AE[TE, KA=] Nojo /02
‘N FAL

« NGt N, N2H/2F N

MO
0gk
ra
>



54

o

e hEky

to=]

re

>

HIZiol YUS TIOIS MM,

Complete the words.

1)

UL THOIE AATBINIR.

Match each word with the correct picture.

X e
oy e
ST

*H
0

AlA

>
Ho

i
i

re
al>
w

IS B3 [27]]9} Z0| tiEE 2HAsIMIR.

Look at the pictures and complete the dialogues as shown in the example.

[87]]

0
A:O|IAH olo|R7
B: Y,

3)
A 0[H ol?
B:U

5)
A 0|AH H?
B:uyl,

rf
>
S

Ot= TOIE 25 ZOtEM|R.
Find all the words that you know.

= A T AV
o b A | | m
3| 4| x| s
al a2l e e
g & | M| o n

A 0|AH

H o ojoe?

B: 4|, Helofla

A 0|A ololle?

ey

A:0|A 027

E(}

A 0|H o?

4,




&k

2

o=

=
h

1. Nol/Zk qlelafglol 2]

Az

U2 NS uBML.

Circle the correct particle.

1) M0/ 7h) o,
3) =XH 0l /7t) oL,
5) ZHHIZK O / 7) AR,

re
o>
N

__':HEI‘ HS Grammar and Expression

2) H(ol/7t) AL,
4) 7t 0l /7t)
6) AlAI(0l/ 7})

O™E 20 [27]]eF 20| i3S M.

Look at the pictures and complete the dialogues as shown in the example.

[27]] P
| v /

0 |
|
Vi

‘MW& é\

A 2 Aho] 0/10-]_3_

I

By, Yeia

B:olle el

1) Al
B
2) A
B:
3) A
B:
4) Al
B

?
T4,

?
ofHe, R
e ?
o

7

ik}

B [27]]2F Z0] 0|07 |6 EM|L.

Look at the pictures and create the dialogues as shown in the example.

a

lrin 7

Pray sl =
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Rl
Mo

Ha

rob

for=i

2. A=A, MAE] Noldla /98

A

o>

1

28 B i3IS 2HAGIMR.

Look at the pictures and complete the dialogues.

D 0|H= HHR?

D2l Eofla

E|s

D02,

CXHE HAR?

L 0[H= AlA 07

D HAE FUEOIR?

2 0[7= Hojo?

| K7z = H0|0|2?

re
aol>
N

2SX| A BE 21 007 [6]f EMIL. @548 - p23)

Using activity sheets A & B, ask each other questions and respond as shown in the example.

[2&X Al

[&7]]

re
of>
w

21712t 0[0F7 s HAMIL.

Ask your classmates how to say the following sentences in their native language.

\ "I love you."= 312012 201Q?

Ol zHojof| 2?7

OtLir, oo

H‘l"“l"“ul“ilii’ti‘

“olole/oe.
A

klo fme

22
=

(Bl



rf
o>
w

1EE 21T [R7]]9F 20| tHEtE 2A5IML.
Look at the pictures and complete the dialogues as shown in the example.

3N zH2

A& 1 s w9 2o oppis BAe.
Ask for the items in the pictures as shown in the example.

klo fe

LBlioks =

[&7]]
*
7k FAle
[ EyI ] {'.-/—"‘f__‘\_..
G ) *
1) Fa ;’j (k |al A A"E'o’- -7r‘—/~1|_&.
o
4 B: 047 Qloig.
R =4
3)
)
Al
L
B: 07| o2
A& 2 2s =0 0o 20| oloplah 2HR.

2 Look at the pictures and create the sentences as shown in the example. 2) 7 e

B KTl "’ )

ro TIDAIBA =N 4 I

U E Ao : irJ B . O47I ?A'O-i-g--
uissu.’f‘a?ssgm p %/‘_ -y
Tel. 02} 765 4321 W '|"""?-'
- | N

%46:‘? 3) //_H---Hq\‘..

o ? ) .
[E7]] - _ A .

I[';; T S

o). 5

re
o>
IS

2D A2 MES 0/0F7 |5 EMR.

Ask Santa Clause for items that you would like to receive.

@ 71 scissors  BE coat A candy




4. NOHL N, N2t/2 N A& 3 2z =D (w20l tals IS,

Look at the pictures and complete the dialogues as shown in the example.
Aaal azs =020z sye

Look at the pictures and combine two nouns into a noun phrase as shown in the example.

1)

[E7]]

2) ‘
B:_imsta M (o) 7t o,

CH7E AR

7FHkSl #H 9@ g1y

X s
2 \ (THLT I 7\ : 0l / 7t A%,
2) Q
27t 9loiR?
Al v
62 J ol / 7t Aol
>
o 3) e
= 5) W N 2 A BT Qlo1R?
2 _,H'-':_}_,:J, H— 3
& Dl f
K e sl T B: 0l / 7t AR,
|\ == ”
xf + =g
Asd vue g 3o 2us ssiie.
Complete the sentences using the appropriate particle from the box.
=} = 0l 7t ]!
A& 2 wme g n=Me.
Circle the correct particle. A IEA AFO|0f2.
1) 7M@) oF) HLrt ) AflE MO BHAH0|0|Q
—~l= OoOT L Ao AL
2) ME(2t/2) SHLIC
) (2f/ %) swjuct 3) g ol Azt ofole.
3) BXK 7/ Q) LArILIC
) (J—/ ) T d ' |' 4) O|7-| OJ@OIOHS?._
4) HZ( 3}/ Q) Bt 5) X} JHeE =AQ
ol
6) FXI(2k/9t) Apxieluic (M ittt Esaoione T

L/In b7

o

J Hlnkk
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of
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e (T)

%0

<l

A

[ &7]]

<|n
B

[E7]]

1
<|n
5

ior

ol

T X2,

1.

0%

=i

T

2. T AHO, &

2. T 7Zidi2}, glct

=l
Ho
=

T

o¢
i
=)
Iof

K
ok

oF

53

.

oF

el 21t 0= HUR?

(T) R7tAoAR?

<0
Y|

.1

[&27]]

<|n
gl

(T) ol7{ Hoile?
#(S) (017, 2xb) 0|7= olxto

a0
=<0
=

i

1

[27]]

<|m

64

MEr gt=20f

It AN K?

T

1.

T ol Hele?

1.

(0|7, =XH

S

01

47t 9lo]

2. T

2. T XA HoK?

(KA, AA)
3T XNMAHAEL?

S

Hot AAL?

3. T

(KA, 71) |

S

7t 0127

4. 7

4. T 07 HolR?

CHE, 7to|2h)

=3
aa

(

S

(3, 24

S
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H2l2} 2 vocabulary and Grammar 2, %oIs}7|

— e - SR

1. &5t H
7

9| | =u- s

g B2 — Bt AR 7\xt
0|2 - 0|2 Atz X - 57 MY MM
S A= — F= AR LE|A
B ‘ U - U= AR oAt |
| B3 - 23 AR 714 B
‘ matA — mEtA AR =2l 3IAHE
[ | - N B ] o - - |
7t = AlA
| S A} A | 7Nk
sn or YO
2 | o 24t AP
olxt 2xt 7iofiat _J__,___\,l\._:«{x;
XM AFE SH= i A=
66 S | . s — II\\” [/ IL 6:
. ) 7 I :
5 B | xis HL0L. ol T AIH 7t ofLio) e A7 glol 8
o = NS/ Nolol2/012 ARUS £ AOl0IL. : ' &
A == A of7 |2t M 7IXteIR? .
| - OlR, XME SAFHOMIL. '
= NN SE M ML - S oe 22 n2Me.
NI, NELS — U, = shseiLich
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* o track 14 LY &= /20
1. MBS LS ue|n, oree 2e 22} [1-3] = &1 uge z1g n2M9. "
Statements have a falling intonation. Questions have a rising intonation.
1, ( )7k ANHK7?
O LiL} M= F3 AIRIOTOTR? / — U, LiLt Mis 5= ARo[oIg.
afelot ki QIABIE? / - U, IR, wA ox O @ ot
2. o' ", m, &' B MO BE [A, I, &2 Y2ELc 2. ( )7t otLol 2.
When * 7, =, &’ combine with ‘of}’, the resulting syllables are pronounced as [7], ], ]]. ® ofo] >
20| @ 0fo 20
ofl) AIFI[AIA] / EA{2) / XISl [RisH] ool @ 0|
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@ HXh= 80| ofglLct
@ == Y& ARE0| opElL|ct

7. @ gxb= G= Aot

@ HAt= BO0|E7} &Lt

® SHO0|E= ofxtULc}

@ SH0|EE= 8= Alzto] opL|ch,
18. aAts MY

Xtz FHLICH ARRERILCE,

)

@ HAR= 0|2 ArRLct,
@ ™

@ OiXt= Fof MAEllLct

19. @ 2=4120] Rloje.
@ et=FAE0] otLol|.
@ StaAEstn X7t Qloie.
@ st=4EskT FX7t gloje

20. @ Zo| Ao,
@ 7t40] gloje.
Q@ Hut FrHZ0| eoig,
@ AFHIE FLHZO| Ql0iR.
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[13—15] rhsl= of

13. A:
B:
4. A
B:
A
B

15.
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OlLIR, X2 M= 8H44o] o]0,

FE02.

- 0[7= 7ozt 7

L O HoR?

. RHE0j0lL,

[16-20] ci2g 9o otom o =20 X spM|2.

16, AlAIZ} UCHL,

7. st 9xbrt oL,
18. #z| M7t AL,

19, OF7(2} M= MAfEQlL|ct
20. AY M= XIZ g0,

=0 WAoo,
AlAI2E 2ant oX}7} UYL,

22| Mt o7zt W7t QloiR,

22| M 25 AlZo/oll2. SH440]0l|2.
OF7I2} M= U2 ARO[, BIALROI0)S.

A= Al M= 2oL,
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[2] Z172} ojok7|sH HMIL.

Memo

20 Z 7= |37 |E Bt
& xt2lof o2 S2nt QlAkSt T X7 |AMME
3 ENS. e e e
You are on a flight to Korea. Exchange greetingsand =~
introduce yourself to the person sitting nexttoyou. T T
SI2o 2 7= HI7|E EHELICY ‘ .....................
o X2|0] SHS A7} OIAIBHT KI7|ATNES ﬁ w00 0 T TTmrTTm

|

SEMR.

You are on a flight to Korea. Exchange greetings and

introduce yourself to the person sitting next to you.
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1

A

o>

86

Rl
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o=

= As AZEIMIR.

Match each picture with the correct word.

2)
3)
4)
5)
6)
7)
8)

@ OtAIct

® oict

©® Aict

@ =2t

Bi<>C

L

r
of>
N

IHE B0 [27]]9f 20| 2ES MBS,

Look at the pictures and complete the sentences as shown in the example.

(=]]]

ol
fo

ko

[27]] ' m
iz S
y : ;'-I"\
1
APRY M=
2)
o7zt M
3)
A2 M= o

re
al>
w

270 U2 HOIE MM,

Write the correct name of the place under each picture.
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Look at the pictures and complete the dialogues as shown in the example.

1. V-org/0j8 =

A XIZ Y sHR?
o9&l oenzouye

Complete the table with the correct form of the verbs.

-

B:AAE 4AFa

=i -oj2

— ——— + - _ — 1)
BHfCh obLt e

AMCE

DHIE + ~0tQ

i = TR

Bt
—— N B: X

*
2tCt

7t=2x|ct A XIZ A X2 Y sHe?

B:#3 ) B:EjEEE

@ CHltositdown 7F2X|CHo teach @ Yt bread l
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for=g

& Ag3 a2 =T (2l 20| UEE NS,
Look at the pictures and complete the dialogues as shown in the example.

YAS NS DEMR.
Circle the correct particle. [ 27]]
) MeAHI(S/8) oML,
2) AEIE2E(E/E)HNHR e
3 Me®M(&/E)HuL, B: Mo
4) ol S=0(S2/ &) L.
5 XMe ZXHE/E5) AL,
1
6) Mos HelHX( 2/ &) HR | Aejme
o mxte ohMs =V ) Qxl2 g=
Jzig =0 [57]]eh 20| 2HS L. = e fe IS
Look at the pictures and complete the sentences as shown in the example. =l ; gi=r =1
[E7I] | _I—-——--.|‘|* AEE’\ =
D |‘_TIF{‘: g 2
a'&__:?\ )
/’%f{w Y e EEE oe ALREEZ
N\ i/
e ] ) s as
o B HSE
1 —=
He AR S —
s, (2 “ Hello [v‘r A0 IRl
' W it ach 2( ] EN=T1=]
2) " = 'I—"JHYﬂ.f‘.’r‘ T M=
{:\LL—* M= e /’J 3
KV [&‘H B:Rlas
e 2012, | \ /\(}*7;’\/7 B SRy T
Fo(a[a}(p hu_|¢/ Y
3) 4)
A OrzEE
XNe ot
T LiLl= HE
B:LiLt=
4)
Xe= HOIR
5)
A B2lUS
5)
| slle 9=
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Fill in the blanks with the correct particle.
) S ellM HEE e

2) S|A} UK.

S B0 [27]]2F 20| 2XS MM,

Look at the pictures and complete the sentences as shown in the example.

[E711]

i}

0
okl
cio
2
i

Dl
2)

Mo

OT 11—
3)

LiLb=
4)

zZ2|ye

A

re

o>

A
=]

3

IEE 20 [27]]9F Z0| HEtE 2AMsHMR.
Look at the pictures and complete the dialogues as shown in the example.

Acofciojy SHFe15 Hhela

B: AZtHefmotis 3k2o12 uHola

- o{Tjofl M

HUZAIR

2)
AT {C|of| A
B:

3)
A:OoCjoflM
B:

4)
A o]0l M
B:

A2 A= 22 2HE AMEIM L.

Complete the sentences using the correct particle from the box.

ro
rr
mjo
i

) XM_E 012 AR,

2) L sMolol.

3 82 Mz 2012?

2) oft) z7 BHIR?

5) AE)Z Bk Al ot Ho{R

TloL2 Elnke it ko
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gaEN g3 ams=a el 2ol tels ML,
Look at the pictures and complete the dialogues as shown in the example.

aal oceazorme

Complete the table with the correct negated verb form.
I 2SR

‘ ot fCt of olipea ot SE5tct B:ojLle, F% °fslz
A HHSCH | of wHela | S=siCh £leda
HC} otAC} Uit | el of #H2
Xt | 21Ct - Mtk
5 c= I 0127
A& 2 e =D (27 20| 2R LHGMIR. —
Look at the pictures and complete the sentences as shown in the example.
[B7]] .
27
LILE ME 2SoiR.
Ho M= & of sHa
3 B e—
- ﬁ:ﬁl:sll.}ﬁ‘h: A ' oo:io-l—z— HH-?:I'(B'?
! - { VA A
t‘%ﬁ_gf ? Wik B:OfLR,
LILE M= B2 OSTTARE
74
H2 e 5
Ve A 30N FBIE BIR?
| FH)
2) = el B: O
—
LILE Ml 7{T12 OHE. ¥
S M
aad ors ma solsts 2412 07l EHIL.
) Using "9} negation, talk about food that you don't like.
3 : i = y, — —_—
[ glEE AWgEE ih' jm L} M= ol 2HIo|E51R. (M& HmE o opMe )
= 1l ;'. "':.,_._ AT .. = .. . N -'-‘“‘ﬂ—-,_q_____ A _\____,/"/ )
.»_:’ + A = ;
._/5\. S K \\ ?
4)
LILE M=
H M
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21 [271] MM (T) b oict
8 M(9) ue ol
1T 25, ghtot
S
2. T ot=20{, BEsict
s §
s T M, 9
S
4. T 7O], OtA|ct
S
oAg2
[E2]] MME(T) HE 2oe?
B M (5) (M) A2g eloje,

L T ®HE AR?

S (1

2. T HE BR?

S (")

3 T HE HOK?

w

Hl')

o

4. T HE OMR?

S (2R

0
30
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[E71]  MME (1) ofClojAl St20i2 HiQ?
St M (S) (5tm) SwolA SHEO= WYL ™

T O{CjolAM RS AtR?

S (AR

. T OlCol M Hats 8127

S B&)

. T OfoilM 2= 2loje?

S (=Mg)

. T OiCjollM AHIOE otMR?

S (&)

[E71] MYEH(T) HoZ otde?
st M (S) ote, ot ntMe.

T EFE oY
S

T AMES AR?
S

. T OEHEEE Y7

. T 236lKe?
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Write the correct word under each picture.

A &

> N | LA
H.i\u—\?( LN

re
o>
N

HiZhof| YS2 HOIE MM,

Complete the sentences with the correct word.

1) LHHS At off U012
2) =2|Ue nig|3 ol Aol
3) Xge = off o1

4) S 71 of 2loie

5) BAIES wAl of loie
6) TS My off Rlofe
7) Mdde =l ofl U2

2IZH0] LH2 THOIE LM,

Complete the crossword puzzle using the pictures below.
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Look at the picture and answer each question as shown in the example.

1. ®7|7k Nojoj2 /012

daa1 vwe s azsme

Maitch each picture with either ‘©]o}| 2 or *of| @7

fnk-;
i
1
1
! L]
i |
9
] [ ]
102 * Oloig 103
- i [ 59]] | :
th . o2 ALOIPDRESEHOIOIR? 1 AL X7} wtatEololR? &
i : 51 U, arEojolg. . B:oMIR HANL. £ |
2 : E
| ) ALO7I7E 200127 |
I -
. B: .
|
2) A 0717} 2gojoe?
B:
]

3) A X7|7} njgAolo|e?

AE 2 ‘01717 NOJOIR/0IR'S AL23HA] 0]oF7 [5H HAL.
Make sentences using ‘o] 7] 7} Nojoj g/ 4" Q) A or10]01.27

5) A X7|7} 3|AtoR?

NAISER




2. Noj 9loi2[giol2]

re

251 amz e w0y 2o ysiz e,
Look at the pictures and completes the dialogues as shown in the example.

[E7]]
A _?I_IJ Mljl. °"E'°'” 011{01'8' _?
51 .l-l'../'alo'" 0”{0-’&
ATAERRMZE . 9
E2|2 M7} 7
DS M7F Y
DoRRE M7 7
:Lﬂ,___________
A:?E“alum_________?
(O, -
A

|

:
3| M7} -
oille, -
ARl My ?

 opg,

o>
N

IEE E1 [R7]]9F Zo| thals 2MEiMe,
Look at the pictures and complete the dialogues as shown in the example.

[27]]

AL gl 7t U0 R?

A ESO HIt Qlole?

B: (#3h)

2)
AT NMZEL0l 27t Qloie
B:(Ag)y
3)
AL QIASO Rt QI R?
B: (7St &bE)
4)
A CHet20f Y7t Aoie?
B:(Z&stm =23y
3 w2 zz naye

1) X= sl Olofe / A0l ). B4 ojol2 / QUK ),

4) 0717F A ojol2 / o1 ),

5) OFFI2t M= ElAt0ll (O[0iR / AN ). SIAJoIA s

?

B: (NAMBEIR) ‘TloflE NAFEralrt ofora

105
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3. Neil 7t2[ere]

agl Jtes e zon gwe us wug

Complete the sentences using either ‘7}2 or ‘9}8

1)

o>

106 =
= ElAfof
Rl
n,@
2 A &2 22T [EI(8 20| ook s BHL.
<

o7l EMTOl0E.
r ol = Aol

Ask each other where these people are going as shown in the example.

LILE M= ool 7t27?

OHY every day

e o lad) fi .y
?:I :}“ |f$\ 7/ Y. j (
L I 4o 4 LN 'fl\
.y (L Ju\v )
p 4 || Ok
{ R/ = iz
LiLt )R 2) ot7|at 3) 8¢ 4) Az

&3 ame =3[ 20l BEE eHEe.
Look at the pictures and complete the dialogues as shown in the example.

[E7]]
A= ME| 7tRe?

Kl ttoll 7t

B:Ol|R EAIZkofl oF 742

1)
A HE 7tR?
B:OiLIR,
2)
AL RH =0 7127
B: O,
3)
SN AT S 7127
.ﬁm:[/',,,/,,m% B: O,
=== iy //
] Ma;_l‘}ﬂ S
4)
Aol 7te?
B:OlLR

r
of>
S

of EE oA B YRS WS MML,

Complete the sentences using either “of” or “of| 4.’

) Mso=. e

2) LiLt M= Al ghs HHR.
3) X M= T 242,

4) M2 Mes 3¢ 252

5) AEIE Mz 084 7t

107
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4. N S, 9] B8 3 s == 20| datE LML
Look at the pictures and complete the dialogues as shown in the example.

yi

of>

1 voe sie ozse
W

pusps) °fell 27k 5leda ?

U817 ofolle S8l i

* @ % Floil Lol
Y
« @ ol oie
7
B&2 Ize w0 (w9 20| GHE BasHS.
108 Look at the pictures and complete the dialogues as shown in the example. 109
> [ E7| ] ~
o ' 1 H
o - 2=l ool AoR? &
5% 3 ? 2
1)
A - 0] ofC|of] UNHK?
?

2)
A St AF0] ofc]olf QoiR?
B: S
Aed a mros H7E A7 ofrjof U0IL? olok7 s BMIR.
3) What is in the classroom? Where is it located? Ask each other and respond.
A Z1TIE0| oCjof Roe? - ==
&0l ofrfof sloje? | 2] TAOIE ZEED 0l
B: O T —
- ——— | GREDL ofciof Qlofa?
4) e v -




110

Mo

o

o=

re
o>

25

o

o[>

[&271] M4 (T) o717t FARo|L?
st A (9) ul, o717} HAFolo| 2.

o717} MSTHE o7

o7|7t FSoloe?

717t tist=2 o7

717t QIALS 0] R

()

[E7]] MEH(T) AEE0|

£2|20] stwol Ao

(OILIR)
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Look at the pictures and write the word of the number as shown in the example
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Look at the pictures and create the sentences as shown in the example.
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Look at the pictures and complete the dialogues as shown in the example.
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Look at the pictures and complete the dialogues as shown in the example,
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Look at the pictures and complete the dialogues.
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Look at the pictures and complete the sentences as shown in the example.
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Match each picture with the correct word.
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Fill in the blanks with the correct nurhber and unit noun.

0%

g
I
Rl

3) 4) e ¢ E ¢
Qx| %’ - %‘ &‘ s 7]
5) 6)
H} RS
A& 3 72 w0 (=709 20| thaiE eSS,
Look at the pictures and complete the dialogues as shown in the example.
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Answer the following questions.
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Complete the table with the correct form of each word.

—otg

#2

[E7]]

J7E 21 [27]]et 2o 'zt &
Look at the pictures and complete the sentences

=
as

ST o be clean  XHO|RAC to be fun / interesting  XHO|ZICH o be boring / uninteresting & soccer  'SM| weather

HIMICH to be expensive

U2 LS AR,

shown in the example.
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Look at the pictures and complete the dialogues as shown in the example.
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Complete the sentences using the appropriate particle.
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Bl 4F 8

A > E2HIFO0| Xo|Qi0{R?

2210127
Reh2?
E310127

i

o ofl A

He.
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Look at the pictures and create the sentences as shown in the example.

[E27]]

0=

£
’,“:—w(/'l} :HEI 2l kE A

A%

o

Qf} g LiLts stololl2.

olofla

o7 |2tz SAFEO[0IL.

Ol2| 2= L& AFRoloR.

AMRY2 EAME 7t2.

T
o
09
ro
Rl
x0]

A
A&

re

2

o>
w

1EE 21 [H7]]9f Zo| tHEE ML,

Look at the pictures and complete the dialogues as shown in the example.

[E7]] —

TO2E B0 (7))} Zo| 2

HE 2tAs

tMIL.

A OH HE HANR?
B: *HHME miojayg -

Azla AnlAle] e Heofoq g

i F=lin]

A OH RIE M7

a2

FOH| /E U7

=l

Look at the schedule and create the sentences as shown in the example.
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[E7]] MM (T) Atz ool Hof?
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S
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S
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st M (S) (1,3009) 3t JHo| BA ojoll.

o|xt Bt JHoil Zotol|R?
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1. XKIE HE M ohE L2320 TSR,

Pay attention to the following pronunciation when reading numbers.

@& v FHol =1, A2 [0, u]o2 YZELL
‘71, A’ are pronounced as [T, ] after the final consonant ‘=’
of] A3 ] / (1)

@ L ‘w2 Flof '2(E)0] 2H [n]eR USLHT, ‘B2 [F]oz USELC
When the final consonant ‘=" is followed by ‘&(6)’, it is pronounced as [ = ], and ‘& is
pronounced as [£].
of] d=(6)[el=], 0IH=(26)[0]a=]

2. Bl 's, 18, 2 Fof| 220| 2T [5]0| YZEX| LSLIC
When the final consonants *& | &, 2’ are followed by the initial ¢, [&] is silent.

o] F0I2[Z0I2] / BORHL(Z0tR] / HOIR(DtR] / Aoisi 2[ARIH 2]

2. W57
[1-4] = =31 2= 2ol v sHHI2.
©) | 2
[27]] 15 | Vv
L | |
216 | |
3.29 | |
4.22 ] |
[5-8] = =1 My
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7 # e 8. = 2
[9-12] = =1 9H= 2ol v SHMIR.
- | ® @
[27]] ZoksiR | v
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10. Z0IR | B
=S |

1. BEOIR

12. 410{sli
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You are a Korean singer. You went abroad for a

concert and have an interview with a local reporter.
Answer the reporter’s questions.

ZIXIQILICE 812 747t EMEE sl ofais Lt

M.

You are a reporter. A Korean singer is visiting your
country for a concert. Meet the singer and conduct an
interview. Ask the singer questions below.

Ol ...

Memo

oj>



How is the weather?

of 3 * EMQL Al
Weather and seasons
FB8AH
Adjective 1

=Hn 53 ' BE|
* A/V=X|ot
* AN-ELICH u L ct
*A/N-11

Ao
ogk
r2
il



O 2] Vocabulary
: -
as 1 we g azsme.
Match each word with the corresponding picture.
) SCt J .
2) HCt . o
3) 24t . .
4) oLt . .
5) Qic} ° °
A2 2= Y= HolE T2MR.

Choose the word that has no connection with the others three.

[&27]] Azt SLE et 2
N = Ltk HE 7t
2) =t AlEStT HCH Sl
3) M Sa|ct SiCH s

re
of>

18E 21 [H7(]e} o) tisis ISR

Look at the pictures and complete the dialogues as shown in the example

[E7]]

s AENZEOmR?,
B: %ot

AU ofif 7

B: .
2)

AEMILoR?

B: B
3)

A ENILoe?

B:______ -
4)

Crs TOiST ojgals Az L.
Match the set of words on the left with the correct adjectives.

1) M, 7o 3= o oL
A AA
2 A", =X, 22 . * (O I}EESiC)
3) 7t HEE A . e QO HHLC}
=

4) 17| w A
) E07|, G| 0to]AT2] . e @ 27t

AUREE0 1AWE 1



W43 2wz =D (w9 20| aje AABIAIR,
Look at the pictures and complete the dialogues as shown in the example.
T o
AL OdlE LMt ofziol @7
Azl cenzose . B: H¥Yeia
- d . .
Complete the table with the correct forms of each adjective. .
o
-ot/oe -%oie/doie
E:'_l”-_-l' o | -?‘-‘ 2 1)
- 1ia
= P OfRIE M7} pEsol 27
DO R, :
ofzict - - - -
Lt
7t 2
St 18
I —
180 A': OfR) AJZ0] ofgioj7
A& 2 @eeu (2920 BUS YEMR. B: x5 :
. L= Look at the pictures and complete the sentences as shown in the example. =0 B . %
& =
- ] &
b (2717 (e g
: ¢
R S o 3)
NNz LUt EHa :
,% :\?7 ;/ A OIX| 7} ofgiof Q7
( J
] B: o - .
| )
' > CH 7}
L 2
P A ORI 8 2iQtoe7
2) B HXIMINZE Htol.
N & . AT URITINTF ofetol 27
| = okl
s BrotE -
.
3) = .-
s ‘ : 7|'tc|>|'
t& i ERawme T




‘92 A/V-X|O A
% 2. :VV A 48 3 1-S 51 [H7)]9f zt0) i3S rMsiiiQ
Look at the pictures and complete the dialogues as shown in the example
A&l ceszouye.
Complete the table with the correct form of the words. [E7]]
- A X[SHHO| 2xksilo
~x|at —QEX|aL/ At i W*E_Ex:;,ﬁ
Mict “tzl o L Aot Xstae sxmsixer
sairt BAL o mrisie
St
=0t
olct A dstoll obz12t M= sk T1e
ot B A2 e DEo) s1e7
— A OISR,
7ICt ——————
OFAlCH -
Z=0}5tC
Fofsict ) A TE0] H9ie.
o-d=
ZESiCH ) B:23% 49197
o e Atole,
2t I
A2 (27920 SIS AL, A XIS ME R2IE tejg
Create the sentences as shown in the example. ]
B:ORIZ Mz 232 wigg?
: o
Bty Alol W2, [271] St S
SHA AlZH0| OG0 R, _, St Alckol apzol Biedeia — e
L7} HIMSR, 1)
@7|7} giglole - A XISHE0 2171 iyole,
AR 282 2) B 28% 2707t ng?
AIZO| Moo - A OMQ, R
AE[E M mA U0, 3 —————
E2/Y M= wdol gloie. -
Lh= I ¢ 0tMR, 4) ARl E22of Ystole
*
OiX} T7= 7IE DML, . B0 EQUoz sie?
- ‘ A OiLIR
Ol e R0l 5) —
CECREEUES —_—
@ tHA—b-“S_x—"_d;{%—]‘;sl_\v_in[_e; —I.l';_'la—sl_ _Olu.jth_ls- e e e e el B PP N
L

-
~

HUPERIn 1w b1



8. A/V-gUCt/a Lt

aa1 ceozo xye

=

Complete the table with the correct forms of each word.

—gLCt/ aLct

—AEUCHASLICH

H-tl'- Ljcf

4hich

SX5IT

Al EStCt

e

184 ACt

=3 11Zky

o

‘ 7t

2ct

A& 2 cigmzol o sue,
Rewrite the sentences as shown in the example.
AEBML? X AE[20|02.

K= 012 Arholo,

Xlg MESthatmo) A

A& 3 ame mm (e 2ol e ANEIHIS.

S0

oFt] L
_|f3’°

Fleimk? 22 LEIBsliyc),
g Ae SBIZOSUIC

Look at the pictures and complete the dialogues as shown in the example,

[27]]

At history

AL B2 SAI0| ojZALITI
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ag 1 azs ez (woe 2ol s easig.

Look at the pictures and complete the dialogues as shown in the example.

[ ©7]]
A 2lHO| I R?
B: #kn Blolojg

A NI AHIHR?

ey}

2)
A 71810 HUiL?
B:

3)
AITEI QY
B:

4)

&2 332 w1 e 2o 232 S,
Look at the pictures and complete the sentences as shown in the example,
[E7]]
*
 AEIBME PR 5
z/ x4 2 =
YR 57 F e .
al
af
Ot712} M= R
2l M= .
bEelE M= S
A M= e
L= —
M M= .
SAL M= —_—
AE[R M=
&3 2we 22 30 2ys ey

Connect two sentences s using the appropriate connective from the box.

sl - —X[3t
) OHlE 202, + 52 of FRR - e
2) Ofxll= FHole + =0 gole e _—
3) A FMR. + 2af =u|2 T m=a
4) A7} BRI0IQ. + Afmlot M. -

5) SAZL 2L, + Ax7}F xOIYole. —

i—?b:skerb all
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Pattern Practice

[&7]]

%’ track 23

o

ME(T) 71dto| ofm 97
A

M (S) (RHH S719YR.

AE0| o ?
(™)

M7t o e?

G A

A7 I R?

B>
P
N
2
£
<0]
-~

(=711 M4d () =0l B} Mojlolg. 820 25} ofajele.
3 M(S) F20{ BRI} KDIAKIR 0f242Q.

20 YR, Lol M|,

sl M= Hoz £0lsH2. ofala M= AHI|E ot S0t L.

OXlE= HIZL 012, 252 o 919,

re
aj>

re

o>
N

- T LU M= =22 o019

[27]]  Mae () ose M} sl
st &S 252 gt IHSEEiLCy,

Y= (1) Jhyo) =

s
]
& rx
0
i

/UL, 70| vime.

4(S) 7teto] 224D Hme.

T RUE0| MR, Sry=o) 012,

- T 2MIERYe %o ol

S
—_—

- T OARIZE MR, Akt HRU0IL.

- Ol M= A= ool

——



_Shall we watch a movie?

r

o & - 07} B

Leisure activities

VHQ)anig?
- BT
O[3, MIN

- ANV-42
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Match each word with the corresponding picture.

) =7 .
2 Bu :
3 =7 .
) g7 :
5) EfjL|A .

CHS HtoiSat 0122l SAE 1248,
Match each set of words with the correct verb.

) &7 AY, s .
2) HiLA, mjotx, 7|Ef .

3) A7 AEH AFHO|E o

re

of>

3 2mg w0 (woe 20| h31E AMsINS.

Look at the pictures and complete the dialogues as shown in the example

[ E7]]

M
ug
=)

OH
rio

il

Off A



A
W& 3 aze w0 we 20 gais M5
Look at the pictures and complete the dialog

ues as shown in the example.

[H7]]

ag1 oo zouye.

Complete the table with the correct form of each verb.

7hct 7tk 2. Atzisict

ofAICEH 2SIt
2FLfCY HC

(=] s} 2t

At ot AL A L-agloy 9
x|t 2dCt B: —_—
EfCt =Ict

BE 2 a2 =D (=009 20l (EHE BASHL.
Look at the pictures and complete the dialogues as shown in the example.

[E7]] _———
Aczio] %33k Bnka ?
B: 4|, £0t2,
AlRS MG )
1) - !
;2| ? B'E-
Jdl, &0t
2)
?
A D o{C]ojl A s
U, Eo0ie, e
B:
3)
7
. 4|, £012.

-
~NO

(BICE 58 18
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&3 das o (27119 20 thatg agspue.

Look at the pictures and complete the dialogu

2,'c’ B4 o

©s as shown in the example,

A&l osazosme
Complete the table with the correct forms of the verbs. [27]] Th A
Y Y
= S — 5 Y_n %) S /,.
2} Ec} ] | S [ &( -
= = | RARN ,//lf/ A I,g- % 3”-9-7
WAk e
— o W /f’ =y B:2ote LSoig
L . IS < e — 4 Y
: a SIS R
—X|at e

~&LICl/ s L}

-0t/ Soiz
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Look at the pictures and complete the dialogues as shown in the example,
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Look at the pictures and create the sentences as shown in the example.
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The weather is nice today. You would like to go for
a hike or a bicycle ride by the Han River with your
friend on the weekend. Ask your friend to go along.
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You have an exam next week. Studying Korean is
difficult. You would like to study with your friend at
the library on the weekend. Ask your friend to study
together.
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